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=T ALY A 6,975,569 6,984,726 A9,157
= 64.100
Xl 315,000
s 6,596,469
aT A2 592,069 984,585 A 392,516
= 64,100
X 315,000
[ia 212,969
Ot2&+5 AN&E2Y 592,069 984,585 A 392,516
= 64,100
Xl 315,000
[ia 212,969
OIS KA 62,969 69,585 26,616
201 et 40,199 42,815 A2,616
01 At 22l 20,933 23,383 A2,450
Oflger=&Hl] 20,933
O0tE &= =ZIAE 27 MY 2|
4L013t) 120,000& » 6 A 720
Oltsd=% HE ZIM =2 20,213
o BIIBAH(E= 1401 &2)
63,500& * 33MH 2 * 33 6,287
o HIIAAH(EA 550 B2)
335,000& * 3304 + 13 11,055
o BIIAM (et &2)
11,0008 * 33MH A « 13 363
o HIIZAM(ES 1NMHES)
76,000& * 33M 2 « 13 2,508
02 2524l 19,266 19,432 A 166
OlB222%LHA] 5,850
OSEZelAIAE CIHY 3l M|
30,0003 = 5014 + 68 900
Osg&elANAE HMIIRs
15,0003 * 504 + 63 450
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HEX) 150,000& = 294 = 12 3,600
O[AI&E &bl = Xbl] 13,416
O&d=XclAld & SEclALEFX 22l 3,516
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100,000 * 3 300
O0IS&4+S Al&22 KX
300,0008 * 3304 2 9,900
206 M Hl 2,770 2,770 0
01 XHZ H| 2,770 2,770 0
ODISA4E +HAME ABTY
80,000& x 3& x 33| 720
Olt244+E 22 2594729 2,050
O M 3,000 * 150kg 450
[ORLys| 800 = 2,0004 1,600
401 AlEHIZL £ 0HY| 20,000 24,000 A 4,000
01 Al&H| 20,000 24,000 A4 ,000
ONlSA+E REBLDA
2,000,000 = 30H A 6,000
Ollsax 2882 A
2,000,000 = 404 A 8,000
Olsd4+E ASAIE DHY
2,000,000 = 30H A 6,000
AAZ2AIE HSEAY 450,000 900,000 A 450,000
Xl 315,000
= 135,000
401 AlEHIZL £ 0HY| 450,000 900,000 A 450,000
Xl 315,000
= 135,000
01 Al&H| 450,000 897,000 AN 447,000
O =T AlE K 450,000,000 = {14! 450,000
Xl 315,000
= 135,000
A2 =TS AIE HZH2 ] 15,000 15,000 0
401 A& HIZL £ 0HY| 15,000 15,000 0
01 Al& H| 15,000 15,000 0
OHS3Xcldl & 0lsAld MHEs Z2AHH]
3,000,000 = 504 A 15,000
AEUH FHIYE XJAY 64,100 0 64,100
= 64,100
402 SI2F X201 & 64,100 0 64,100
= 64,100
01 QIZEXIEAIE 2 X 64,100 0 64,100
OFEY FHIY NFAL(ILS)
47,900,000 * 14! 47,900
= 47,900
OZEY ZviXe AL (2HY)
16,200,000& = {14l 16,200
= 16,200
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MEES(ETAMEA) 6,383,500 4,351,548 2,031,952
WEAHA XK= 6,383,500 4,351,548 2,031,952
M BIGAYE M=s2 1,113,500 1,251,548 A 138,048
701 JIEISI HSHEE2 1,113,500 1,251,548 A 138,048
02 2I)HELHFHIMNNEZ 813,500 838,348 A 24 848
Q&= olAHdl A& 800,000,000& = 1Al 800,000
O DJITOIA A8 (B#EXZ22 38)
13,500,000& = 14 13,500
03 ZIIYELEIHAN=2ANES 300,000 413,200 A 113,200
OJMeZ MeH(etsla32 38)
300,000,000& = 1A 300,000
ol BIIgXNd HE=E2 5,270,000 3,100,000 2,170,000
701 JIEISI HSHES 5,270,000 3,100,000 2,170,000
02 BIIEELEIHIAANEEZ 3,150,000 2,200,000 950,000
Obdtx=% oHdl X 1,000,000,000& = 1Al 1,000,000
OUSdtx==EYL MR 222U (HD],0tA S
) 1,500,000,000& = 1Al 1,500,000
OHAHABIE=H 2 AIE 29|
250,000,000& = {14l 250,000
O0rSsdtE=Xel & 29Hl 400,000,000 = 14! 400,000
03 ZIIYEEHIAHN=ENENEZ 2,120,000 900,000 1,220,000
OFAGEHEAIE EAZSHIZ NS ALY
500,000,000& = 1A 500,000
Onas 24 ol=22 FHANY (JFHIREE2)
215,000,000& = 14 215,000
OUSotx=TdH SH2LKNYE AAIEH 29
ul| 1,405,000,000& = 14! 1,405,000




